1. RAOER

b ] B 10290 E%FEE| SOMELE |SEBERTES HE
e g AZIET, FELTLV =T
AIEEEHE 73,459,254 0| 73459254\ g0tz 1/ Sosest sk T Lo
L= iBEEN 2L,
#85.3% CHETE,
BiER XIS .
N 87,193,126 0| 87,193,126|x 5
DQ@E%“F1B) L 7 = ‘: L\t R7.2
E ESEI [_:L!)
Br$& %] 2453551 - FIEE S
ZD U A 335,480 44,855 380,335 |jm o it 15 41, (B2 334980
=) 5 160,987,860 44,855 161,032,715
2. ZiHOBR
18 | 10/29%EtFH4| SEIMEHIELE |SEWERTHESE BE
BEXRBEEEREESR
215 1,087,500 44,855 1,132,355
BEE B F RN 145,000 80,000 225,000k R—SERRR—SS B
BEEREERAAFE
(PRI ES) 28,000 0 28000
HELE 50,000 0 50,000 |#fk 1 -SCER &
FNRIE 430,000 0 430,000|0E —ft %
BHE 274,500 44,855 319,355 | &R X415
WMESERYINEAR 130,000 A 80,000 50,000
OFHETE 6,857,000 0 6,857,000
ET)] 10/29%8E% |EXE
FiEtA— | 2,785,000 2,785,000 0
BXERE 2,742,000| 2,772,000 30,000
=Z=5iE 1,300,000( 1,300,000 0
6,827,000 6,857,000 30,000
OMBEMR IEHDK| {54 143 360 0| 153,043,360
Fanik)
hEE LB RETYT| 350919041 0| 35,919,041
- R6.1IOAFHIEFHDKFRTIE. B
ERT#mBRTIYT| 21,323,554 0|  21,323,554|| 0 o b L amri g
mImRREIV7 | 27973817 0| 27,973817||21E 548 of-0T, £iB Y
EHELHRBERTYT| 20,815,895 0 20,815,895 f’;;%ﬁ'@%é%ﬁ’éfﬁﬁb\f,nﬁﬂ
EAMELHBBERTUT7| 47,011,053 0 47,011,053
=1 it 160,987,860 44,855 161,032,715




(BlIAE) TREARML

BEERRARAHRM(EEREABRHERS)

(R#Fa{k]

B2 & /5 NEL 10/20 8 Et T 03| SEME®TEEA

= 50,000 04 0 0

FEE 25,000 14 25,000 25,000

& &t 40,000 14 40,000 40,000

ErE 25,000 0% 0 0

25%5*&1)‘% 20,000 4% 80,000 80,000
5 (THB

R %) 20,000 4 8 0 80,000

a5t 10 & 145,000 225,000

ERDIB1AIL, THRRRX (KKRE) DT

POEHT S,

KEEBEDEDEEZ e DEFHAELIH- R e sbisxih,

REERSREAAG (REGLMABMRHER )

EERE=RE]
=B ETMHBERTY7HES 2|4
ER TR BERTU7HES 1|4
hERE T S BRI 7 A% 1|4
EHELHRBEIU TG 1|4
BAMET S BR T 7HE 1|4
&t 6|4
EEZESRYRH (EEFHL)
5 H B {f fi =z
HRFE 2,000/1[8] H= YRS
ERAFE 1,500/1[] HSEYRTA
FRTDa—)L
*-H =5 A3 - |5 BERERREREBERTE
R6.4.4 SISEERRES 0% 1,500/[8] 0
R6.4.18 FIEEZEEES 4 % 1,500/[8] 6,000
R6.6.27 FEEEER 6 & 1,500/[8] 9,000
R06.8H ZESHEL 6 % 1,500/[] 9,000
R6.10.29 FIMEZEEES 6 & 1,500/[8] 9,000
R06.128 Bl 14 2,000/[a] 2,000
R07.1 5 ST EEPRHESR 24 1,500/[8] 3,000
R07.2F JOvysiE 14 2,000/[a] 2,000
R07.3F FANEE RS R 6 & 1,500/[8] 9,000
FE1ES BERER 6 % 1,500/] 9,000
58,000
BNEBERE (GHE) XEBEB2Q0FTHFEIC. IR (FERZLEETS,
ER4 10/204 E X FEEE SEWERFTELE
Sl [=] SEER A v
gfg;géﬁ%ﬁé@;ﬁnﬁ**%@fﬁ1t z 50,000 50,000
FRIEI(EEZEREREDOHNRIE) 200,000 200,000
430,000 430,000
MRE2 EEZESREEHNLSERE 930.000 930000
DHRIE-£#E %) ' :
BREBIWFR -JARYNUY AEEFA
I Lol 40,000 40,000
#13,300*12/ H +2=19,800 %) 274.500 319,355
4L 2 @a—‘- =I,%. %; Ay e =
WESERVINERSTE 2K 0 0
754,500 799,355




000'szz 0001002 000'5z% ooy 128

0000z [0 FEEL 00007 I 7l % 00002 o) 0 0 @) £ &+ E ¥ 114
0000¢ |0 IHSEE|0000¢ I zl * 00002 0 0 0 0 #F£him% E =02 61
0000 [0 JHBE£E 00007 I zl * 00002 0 0 0 0 LT - B ¥ gl
0000¢ |0 JHBEE|0000¢ I zl *000°0¢ 0 0 0 0 SHESHS| 2EYR | B ¥ Ll
0000 [0 JHEEE|00002 I 7l *(000°02 @) 0 0 O ||Z£&8 FERHTHT - E ¥ 9l
0000¢ [0 FHEEE|0000¢ I ¢l *(000°0¢ 0 0 0 0 TEE dERHTEE 0 — E ¥ gl
0000z [0 JEL£E|00002 I 7l *(000°02 @) 0 0 O |[g2= wenTgiEyy - E ¥ bl
0000 [0 &L 00007 I zl *000°02 0 0 0 O ||zemE AupsTesEs — E ¥ el
0 00002 | 5. 00002 | 7l %0000 0 o) 0 0 wREzEoN| ¥EYE | ¥ ¥ 4t
0 00002 mwmm 00002 ! zl 00002 0 0 o) ssazsssommevesas E4% | U ¥ 1
0 0 mgmwo 0 0 %0000 I3 O|| swazessmmsomnens] 2% | ¥ ¥ 0l
0 00000 | 2 0000C | 7 +0000¢ 0 0 O 0 ||smszsesmezsy W RS 6

0 00002 | .= 00002 | 7l %0000 O o) 0 O ||sBEgtty-#E shd | ¥ Z 8

0 00002 %mm 00002 ! 2l #0000 0 0 o) 0 BRGEYERT| T B ¥ L

0 0006¢ | pc s 0006 | 7l 000°G2 0 o) O SeE FUEHTHES|  — PEE 9

0 0 mgmwo 0 0 %0006 | O [FsE DewTeks — 283 g

0 00016z mamm 00076z ! 7l %0006z 0 0 0 0 BRELYKE BEYR | D8E ¥

0000F [0 FHEEE|0000Y I ¢l *{000°0F 0 0 0 0 ¥ T £ s 3

000Gz [0 FEEL 00062 I 7l *|000'Ge o) 0 0 @) N SHad I 4

0 00006 mamm 00008 ! 2l %0000 0 0 o) 0 SHEYHEYOY W ¥ = !

Ppozy| HHE HIUY uem| E) JEB o0 | oreou | soso | #0s0 Y- B AT | mEm =

SHPWHE KEH 2O EEE
VEGHENEES @ ORXEUNUWHOESS LY X8T/r 13X ZE5FXUETHAZRY FEHEOMS




